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Correct
construction

Correct
construction

M1 for correct construction arcs or bisector within guidelines but no
(or incorrect) construction arcs
Al for bisector within guidelines with correct arcs shown

MI for correct construction arcs or perpendicular within guidelines but
no (or incorrect) construction arcs
Al for perpendicular within guidelines with correct arcs shown





image2.png
Construction

M for arcs construction of 60 degrees
MI (dep) for ares bisector of '60 degrees' (not 90
degrees)

AT (dep on both M marks) for 30 degrees within
guidelines

OR

MI for arc construction of 90 degrees

MI(dep) for arc construction of 60 degrees
Al (dep on both M marks) for 30 degrees within

guidelines
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Correct construction

M for two pairs of correct intersecting
arcs (may both be on the same side of AB)
A1 for correct perpendicular bisector

(SC. B1 for line within guidelines if no
marks awarded)
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One continuous arc, cenire A, Allow 2 mm for radii
intersecting AB and AD

or M1

Two arcs, each with same radius and

centre A, intersecting AB and AD

Intersecting arcs with same radius Allow 2 mm for radii

and centres at the intersections with The radius of these arcs need not be the
ABand AD A1 | same as those used for M1

and
angle bisector drawn

Arc of radius (5.8, 6.2] cm, centre C,
intersecting their angle bisector and
Plabelled

E c

SC1 Arc of radius [5.8, 6.2] cm,
centre C with no angle bisector
attempted





